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COMMERCE AND ACCOUNTANCY (PAPER-I])

Time Allowed : Three Hours ‘ [Maximum Marks : 250_]

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
Space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in chronological order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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TUE—A / SECTION—A

1, ﬁw%f@aaﬁmaﬁﬁq(u@mwm 150 W=t ) .

Explain the following (each in about 150 words) : 10=5

(@)

(b)

(c)

(d)

(e)

{b)

(c)

& AR 1 e g

Equity Theory of Work Motivation

TR mere fagr=g

Figure Ground Principle

AR T S

Specialisation vs. Professionalisation

ER R L B o S

Interpersonal Conflict and Johari Window

@mﬁﬁﬁaﬁma@nmﬁmw

Concept of Diversity and Inclusion in the Organisation

activities, coordinating the activities and the overal] accomplishment of the
tasks.” In the light of this statement, discuss various components of
Organisation structure.
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{a)

(b)

(c)

(@)

(b)

“are % v SAEETEE Wi § HTa €ET a9 Faven €8 % 8oy Ssfed F o

wEEUl BT B FW SR § weE wsaiar see % Oy weeld g f s=men
Hfu| Frw TSR TR AR, e, Sfewar, Efea o Gge @ 9 e 87

“In today’s dynamic business environment, continuous learning and
innovation is important for survival of organisation.” In view of this, explain the
role of culture in increasing organisational effectiveness. How is the culture
linked with size, structure, complexity, diversity and leadership?

ST SR A a1 i qfie g ¥ S0 2 3 TR F ufiee g e
WIS Sl U STTENON 1 Hfqwww 0 &1 39 FUF A gf¥ ¥ arwreigg dud A ware €n |
T it Eend % T S S aTelt Teeel wiEitial s wlemn i) Ree seR 3 TR,
A & F-aderee H TEATEHA F GgGaF MUR TEH FA 87

“The organisation is made up of overlapping and interlocking role sets. These
role sets would normally transcend the boundaries of the classical conception
of organisation.” In view of this statement, examine the important strategies
that can be used to manage intergroup conflict effectively. How do these
dynamics provide theoretical foundation for the need of today’s interfunctional
team? :

SR THER R 27 R LAY Gl § Stus UE @i wned fewd 87 O wemeh %
I & o0 @41 sed I3@ 1 e &7

What is agency problem? Do you find any such problem in Indian
organisations? What steps can be taken to solve such problems?

"o gy T ima 3 s g | o IR # @R At 50 R W e e
Framm e @1 T = 1 5@ wed % wniya g = 87 56 iireyvlly oreme i §7

“Impression management is the process by which people attempt to manage
or control the perceptions others form of them.” What are the possible
implications of this statement? What are its identifiable components?

“smeEiE g ¥, tw Gl T R had e wE faffd s wE W R T W w
HTSA i AU fahi=d 2| P w1 78 3 5 il w fraen Fof sfenfa fen man 2
A fobern e vl o sreaffa frr w217 38 O o wlew T A W e § @R g
A o % oo # acigE A g T

“Practically, it is not possible to determine whether an organisation is

centralized or decentralized merely by looking at the organisation chart. The
determining factor is how much of the decision making is retained at the top

and how much is delegated to the lower levels.” Examine this keeping in mind
that team-oriented organisations have emerged in recent years.

20

20

10

20

20
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(c)

Wm@ﬂmﬁaﬁ@aﬁa@ﬁﬁwﬁﬁwﬁﬁmaﬂmwmﬁ
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the organisation? 10
EUS—B / SECTION—B
5. fi=afad = wy Hifm (I e 150 w==t #) .

Explain the following (each in about 150 words) : 10x5=50

(@) @IS it 5 ERIEE Tl
Effectiveness of Social Dialogue

(b) T sicremon
Retaining Talent

(c) <rENfe fae sffey 1947%mmammmmﬁﬁa
General Prohibition on Strikes and Lockouts under 1D Act, 1947

(d) afogfd wem
Compensation Survey

(e) 360 feft ggwmr somean
360 degree Feedback System

6. (a) “Wﬁﬁﬁmﬁmﬁﬁﬂmﬁ—mmﬁwﬁﬁﬁ 3R Rt P s s 3

%mﬁqﬁamﬁ%%qﬁﬂmmmﬁ#a@amm@%i T FT 6 = fifn e
%wﬁ@vﬁwﬁwm&w‘ﬂﬁ&mﬁmsﬁéﬁmﬁ-mm%%%m
FTE-AH Te g7 hifvrg
Professional students In India are facing the problem of unemployability and
Indian employers are criticizing the professional institutions for not producing
students as per their standards.” Explain this statement. Also identify the
Teasons and consequences for this issue, and Suggest action plan to overcome
this unemployability problem. 20

(b) “mmﬁmmw%ﬁmm%%mﬁwﬁmw%w
ﬁwaﬁﬁww%l”wmﬁw$mmﬁafﬁﬁmam@%%qw
R -2SAT TR
“In the current Steénario, public enterprises are working as model employer but
their downsizing programme has daunted this philosophy.’ Comment on this
statement in the context of Indian Scenario and Suggest an action plan for
them 20



(c)

7. {a)
(b)
()
8. (a)

Y ® e B AW HEiiEr G o SEed W R i 9w 9 a1 3w enamlen w
UG & 3K T @ ==en § FEwdll’ 360 TR & IR 5w saerl St # ahe
i FU T 3R 3w W s F fon adena 3o geme)

“Workers’ participation in management scheme in India is almost a failure
because it is neither based on sound foundation nor workable in practice.”
Examine the factors responsible for creating this environment and suggest
rational measures to make it more effective.

TH WIS U ekt Ul 3 wEhE & afiem qon gl 6 eravawar S 21 Awa
HHTEA AT # wed # W R wer wefEe e =iRe? wiemr % wveng wdsiie 6
IR T ATl HY H] A A % O S G0 R0 FH I8 a7 397 @6 B s
=gy

A process of digitalization in an organisation requires training and reskilling of
employees. How should HR Department manage this in the organisation? What
steps and measure should they take to minimize the conflict arising out of the
redeployment of employees after the training?

“W%gﬁwﬁm&maﬂwﬁawmaﬁﬁwﬁaﬁ%ﬁm%ﬁﬁmuﬁm
frmelt 817 50w A e §F w99 gE NARE FiE % e § sren SR

“Commitment to the organisation plays an important role in developing
relationship between job satisfaction and labour turnover.” Examine this
statement in the context of major IT companies working in India.

"I A B A T et qoft T S e sTaveand 99 sret wahe, s
T, TS AFHHE AR A Yo HewR Iuery 81 39 wud W S I qu e
fe woglt it sTavEwar w1 geae AR |

“Effective administration of incentive scheme is possible only when all the
prerequisites such as good methods, good standards, good scheduling and

good management practices are present.” Comment and evaluate the need for
guaranteed day wages.

Y S I3 G S SeR % ufafia gt w aiomm @ aife a8 SR 5
STHR 3 ATl WA FAEH], HET, Tl a6 IO F) R w g Wil @ g
A 17 T R F SAAHS G AR R weT Ut B smesa w0 a o a9
@ & fag wrEifeEt gemn) '

“The emergence of Talent Management is the result of changing orientations of
Human Resources Management as it involves all the managers shaping the

company, the jobs even the strategy to attract talented people.” Critically
examine the statement and suggest strategies for attracting and retaining
talent in the organisation.

10

20

20

10

20

A-BRT-F-BPBT]/ 29 5 [P.T.O.



(b) WA % GREE qu o wtE A i w5 e g % wee § R e & wEan e
T £7 T GRETSh & Wem @ g g sl w1 RRE e SEe S S e o
What type of provisions relating to social security for workers are provided in

the Constitution and Labour Laws in India? How can such social security
benefits be improved through collective bargaining? 20

(c) “‘HuaTET WS 59 U hHEE] o TSR TRl A SOl ST S qe wed
iy ITanTEd B W % e e w0 1) ONEe A el Sk 6l stfeErare
== Ff
“The main objective of mentoring is to help an employee attain psychological

maturity and effectiveness and get integrated with the organisation.” Elucidate
and discuss the essentials of successful mentoring. 10
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C-DRN-N-EPBB

COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions})

There are EIGHT questions divided in two Sections and printed both in HIND! and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in chronological order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUS—A / SECTION—A

1. e # o R (&% @ 150 T 8)

. Explain the following {each in about 150 words) :

(@)
(b)

(c)

o RErt & areafes uw
Cybernetic Aspects of System Theory

wnw(s’ﬁmﬁﬁaﬁz)wﬁw(@ﬁ)

Scope of Impression Management

Aeepee (Teamie) wvea

. Fishnet Organization

(d)

(e)

g (Bfgew) wea weE i greEnd

Problems in Matrix QOrganization Structure

v g
Managerial Grid

“HiTeT T U@ AEEY g & S P @ g seea & G W o 9, 39
e et & wfY ¥ i, SR ofR wSe wU @ s S 17§ O F T H,
T % Tgae Alset w == i)

“Organization is the human group deliberately and consciously created for the

 attainment of certain goals with rational coordination of closely relevant

activities.” In the light of this statement, discuss the distinguishing features of

- an organization.

(b)

(c)

‘T =% (FITA when) it wEne % R el 3 s @ 8, afe T we e
s seareRal W R o A s ot e T R 2 17 feorfl fifi) @ o w s
IqTm & fh wER enenda ity ok seErE w1 G €7

“Quality circles are getting popularity for academic purpose, but they tend to
show little or no effect on employee satisfaction and productivity.” Comment.
How can these quality circles be made more effective and viable in their
approach?

AT TS (I ARSI T 87 1 39 AR F oiote § st wea i €7 g
ot S wiEhmett @ vl fifvm) :

What is virtual organization? Do you visualize it in Indian scenario? Examine
its merits and limitations.

CGRANETBH 33 2

10x5=50

20

20
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(@) “‘afiro (W) B arftea et w-gR f @ § 7 6 g ) s, 3% wmm
Tl # WER 3 3T T B & JEEa 21 39 U W T=) i 3 I
T % R $E-39 gEEy|
“Most of the theories of motivation are complementary, but not competitive to

each other. Hence, there is need to understand their interrelationships and
integrate them.” Discuss the statement and suggest action plan for integration. 20

(b) ‘‘TMeR wiEW 3R IuF HrEAHS R & o9 U wnend Wy 217 56 e o favaww
Hifwg 3R & vEm F @ @ # oA dan @ & wdl W ogww dw

“There is a positive relationship between the organizational environment and
its structural design.” Make an analysis of this statement and in the light of the
same, suggest steps to design an organization. 20

(c) e g w0 A 7 1 HiwAE Jar 921 A F 0 R 3 S TR 87 3 ot srgmft A
frg yeer wwifaa @ &7 == fifs

What is charismatic leadership? Are charismatic leaders horn or made? How
do they influence followers? Discuss. 10

(a) ‘‘TeR ¥ wadg (FHfREe) w9 ToETEe T@ §n, Ty 9% ww @ T @ @ g1
gfaan we i) 3@+ F o BiRrad #n §7 mole wem w elwa v
sgfwaia ok awrEt T & fom T gEETs @R W faewm il

“Conflict in an organization is not always problematic, but it paves the way for
development.” Elucidate. What are the possible implications of this statement?
Develop a suggestive framework to make the conflict management more
responsive and effective. 20

(b) “wnafa oedfa = oo W T Rl @ R, e =t F ywe @ e o @ oagm @
e & e | v wman R0 39 Fon o favawwr fifd st weeitfes saer § sem
FE A FAO W AN WA Ty /97 & dr-aliswt w o fifvw)

“Organizational politics refers to intentional behaviours that are designed to
enhance or protect a person’s influence and self-interest.” Analyze the
statement and discuss the reasons contributing the political behaviour and the
way-outs to avoid organizational politics. 20

(c) ‘‘arcia ey wdahEt % amed oK gvEl ¥ ot [ F YR W AR R W ae
21 78 =afema dwfem o §9fg W @ 3@ 1wl we fifing)
“Organizational culture emphasizes building on employees’ strength and

rewards more than punishments. [t emphasizes individual vitality and growth.”
Elucidate. 10

“GH AN ANEFAB] I3 3 [P.T.O.
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@us—B / SECTION—B

5. Frafafaa # e fife (@ T 150 7=t |) -
Explain the following (each in about 150 words) : 10x5=50

(a) AfcF wide
Ethical Training

(b) TR TgFcy I
Stock Option Scheme

(c) THI wQIYA Ffediad (SILEIrET)
HR Outsourcing

(d) YadT Fam AR w=HEn

Induction vs. Orientation Programme

(e) 3-wefl

e-Recruitinent

6. (a) TN F 2 after St faverw Frisw § wmer swaelt (dfEee) = €, wwft soee S

' 7 T T § geewal Y gen # afts weme @ 37 sus st fi weEm Fifg iR
i fewm o wwife iR s T S g AR
Why are workers not more proactive in job analysis programmes, though it is
more helpful in their possible development in comparison to mahagers?
Identify the reasons and offer suggestions to make the job analysis more
relevant and effective. 20

(b} VAT Helgy WY Mo A< TigfRa, a@ Aga v verfifos wew | ofta g, e
A T F o & e @ e | e w1 afen we A g v # e
HHl % THET B U & fin e gemers < @ fasa i
“Indian trade union movement is plagued by intraunion rivalry, outside
leadership and political patronage, and has failed.to serve the purpose of its

own formation.” Elucidate and develop a suggestive framework to improve the
functioning of trade unions in India. 20

¢/ wra i g Aife, sm fqum ot 7o 99 e W IR M wed (3o Tdo o) F
e g ik

Examine the influence of ILO on labour policy, labour legislation and trade
union movement in India. 10

DGR AN EFRAB] 33 4



(a)

(b)

fc)

(a)

(b}

(c)

“Tafem wdwn (Rygawile mm) 7 aE«ts a7 sonl § ofeife wery amEm
(330 3o FMFHE) T Widget TN e 317 §8 Fod F Fafdanel o1 e Hifd | 38 v
7, sl & Rl & e f w sagdd awn dm A

“Disinvestment programme has adversely affected the IR climate in public
enterprises.” Assess the implications of this statement. In this context, make
out a viable plan to protect the interest of employees.

i it wETEl & el W™ % fo ok wegien wigie A (el aiferdt) 6
syl 31" 36 AT R A e § v gy At A fawm % ygw st S weten
o Fifa

“There is a need for a balanced exit policy for the mutual benefit of employer
and employees.” Keeping this in your mind, outline the salient features of exit
policy statement.

T3 4 e fEEl i FEeEn F1 F € M (W) e €, 7w Fane i seEen |
@ IarE © ==t fif)

There are two approaches of managing industrial disputes in an organization,
viz., preventive and curative. Discuss these two approaches.

“Fe fEm FEwE v F et & vdff A d I dza R i wem ot 39w v
amaafr(ﬁﬁa)%:”wmmwﬁwﬁﬁﬁqﬁwgﬁﬁw%,ﬁmm
¥ a8 widwd 9l % g%d T8 @R

“Skill development programme fits into recruitment policy of Indian employers
and Government is also proactive to it.” Comment on the statement and
identify the issues as to why this programme is not successful in India so far.

“uftyent B Al el yEnm FEEE § am o % fou e A s g, el ww
st clieds & CF T=erd 9E g1 3W FUA F Y H, 39 fou suwrt wien W
fawiom A it sfis arfier # it e o g 9 % R ggme yxga ARk

“Workers have not been empowered to participate in worker participation
management programmes, though it is a popular instrument of industrial
democracy.” In the light of the statement, analyze the factors responsible for it
and offer suggestions to make the worker participation more viable and
effective.

wd A gEe Wt wmfEt § aga gu e oned (efiEn) & SR S gWE 1 ahem
AR, Tt 3% vyl 3 oga A e S@ R ftw gfrmuiers @) % ww
(fdwm) A sgr il & FE-ge dar Hif

Examine the reasons and impact of growing labour turnover in Indian IT

companies, though their compensation package is better and more
competitive. Prepare a plan of action to improve their retention.

* ok

20

20

10

20

20

10
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in Two Sections and printed both in HINDI and in ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out ofthe remaining, THREE are to be attempted choosing at
least ONE questionfrom each Section.

The number of marks carried by a question/part is indicated against it

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly
on the cover ofthis Question-cum-Answer %QCA) Booklet in the space provided. No marks will be given
for answers written in medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off attempt ofa question shall
be counted even if attempted partl%. Anypage or portion ofthe page left blank in the Question-cum-Answer
Booklet must be clearly struck off.

C-Wvz-0-mi® ®
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SECTION—A
Q. 1 fiHfaRR # TW (*r*P wrwr 150 TOTT M) -
Explain the following (each in about 150 words) : 10x5=50

Q. 1(a) tcNr i

Balance Score Card 10
Q. 1(b) MR

VUCA World 10
Q. 1(c) fa

Force Field Analysis 10
Q. 1(d)

Psychological Contract 10
Q. 1(e) PIFT Twitted |

Accountability vs Responsibility. 10
Q. 2@) “wisfait TfenM w ri W tM tl”

ft gff w sriAwT

“Competitiveness of Indian industry is directly linked with digitisation initiatives,” Identify

the issues involved and implication of this statement. 20
Q. 2(b) Yowr t ft *TKHT oJTWHN W I ft A pHTTW 3TAATE

% WWETFTE A ffen: Tt A

¥ % Idg [nKirH+ MPAT |

“Since liberalisation there has been continuous pressure on the functioning of regulatory
agencies which monitor Indian business organisations.” Evaluate this statement and suggest

remedial measures to enhance their effectiveness. 20

Q. 2(c) FWTf % TO mm | ? Fwrfr A
What is meant by empowered organisations ? Suggest steps to foster an empowered
organisation. 10

C-AVZ-Q-ZmgB ®



Q. 3(@)

Q. 3(b)

Q. 3(c)

Q. 4(a)

Q 4(b)

Q. 4(c)

sppnr NfAfAY $ ittem 47 tot A
ANrto FIVT ATt ?2t& WRT H¥fW A f 3T %M|6"H "W AcTI
ANotor mo yrrrfor f 2

According to Hendry Mintzberg, how does the power dynamics between various parts of
the organisation, result in different structural forms of organisation ? What are these

structural forms, and how do they affect organisational effectiveness ? 20

“TO i FIf'T 1 WT&l % m 3RTIOT

AR NPT tffe gftfw A A t1I"WWT AT
3TTgfA Md-it ~ 7RffcTA WFTOf  3ffaWT

“Organisation culture is the long term phenomenon that decides the success or failure of
the mission and vision of the organisation and ultimately its survival in the current global
scenario.” Explain this statement and also identify the cultural problems of modem business

Organisations. 20

3ngfee> 3w wwtct amrmrg A

it lr f 2w m ~ f 2 3Fr3”~ 3TR % w fa ~ N |

In post modern-organisations, are traditional concepts like line and staff functions

irrelevant ? Do you think so ? Give arguments in support of your answer. 10

‘W5 <+, 3mdt, W THtirTFT Tifeef » faffrT % FIFT T? WFT
A w | % fogp tArfA

oTT AT Art 117 % 3IRTO t ?W AT

N i

“S-0-B-C model gives Only a bare bones sketch of organisation behaviour rather than a
full blown explanation. However it can serve as a conceptual framework for organisational

behaviour.” What do you mean by this statement ? Give suggestions to enrich this model.
20

Wt ? *TRET +-MW A A
StWCAT  tor TOT ATtrr  cft f ? I

What is positive psychology ? How can Indian companies use the concepts of the same

to foster entrepreneurial thinking in their workforce ? Explain. 20

"TO# WSm JW ATE ¥ TAMCTT A METT t I" ftAFT

APrg; |

“Organisational citizenship behaviour enhances the effectiveness of quality circles.” Comment.
10

C-AVZ-0-4m& ®
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SECTION—B
Q. 5 PIHIrii&cT ATTT dTO 150 3
Explain the following: (each in about 150 words) : 10x5=50

Q. 5(a) fATTA W HIWS |

Behavioural Anchored Rating Scale. 10
Q. 5(b) WSPT I

Human Resource Accounting. 10
Q. 5(c) A wm i

Conciliation vs Mediation in Disputes Resolution. 10
Q. 5(d) KPFT A sffarc @ I

Pen down strike vs Tool down strike, 10
Q. 5(e) cflcrrat m I

Banning Lockouts. 10
Q. 6(a) #3prr w tifaisif % T sy

r A 3NE Ml | w % Pited|

Q. 6(b)

Q. 6(c)

“Cafeteria Scheme allows individual employees to decide, with certain limits, on the
make up of their Fringe Benefits Package.” Discuss. Also examine the implications of

this statement, 20
“Wwm tt Ny faror f'mr wfer %rPnEf A

% fift* w f ar  fafWW<q  WRT AT 3STRIT MAT
ti" A AT m wit SRIR] t wstft A
WEFT fNTFT W WA WT t ?

“Compared to factory workers, it is more difficult to attempt job analysis, job description,
and job specification for the Scientists and Engineers working in Research and Development
ADepartments ” Comment. How does the HR Department help management to address

these challenges effectively ? 20
FESWT St Wit W T t 2 CJTW A2
What is the impact of ‘Halo Effect’ on Performance Appraisal ? Explain. 10

c-xVZr-a-zm”™B (?)
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Q. 7(a)

Q. 7(b)

Q. 7(c)

Q 8(a)

Q. 8(0)

Q. §(c)

"360° McT RA ATt 1" M | HGT X ton
3 %™ I AT ifr
“360° feedback system is gaining popularity.” Comment. Also examine the barriers to its

effective implementation in India. 20
3ATT 3Hir RMT A 3 Wim! 1948 $
fAT t1" 2w 3Jmw  f anra-

“I.T. Companies in India seek special concessions in the Factories Act of 1948, for their
establishments.” What are these concessions ? Do you agree that these should be
granted ? Give arguments in support of your answer. 20

TO W ~SRgrwfenft %TO N t etfAT A A
wftfrt A ar*TOT ti"

“Constitutional provisions are in favour of Workers Participation in Management, but its

implementation requires effective strategies.” Discuss. 10
m amf A Att frA
Rt 2Tt <dfjpr WMcft WTT TTRY TOT
f 2 AnT |

“Majority of I.T. Companies are keen to reduce their labour turnover.” What are the
reasons for it ? How could exit interviews and post exit questionnaires enable them to do

s0 ? Comment. 20

il <€ ¥% %crurfM A mk™R* tomr  3ncrw+di ifcft
t " £ AT ¢T™ TT SIPT YT
ftt ?

“Collective bargaining requires mutual trust among key stakeholders within an industry.”
Comment. What considerations are to be taken into account in managing collective bargaining
arrangements ? 20

"1991 % 3T mHM *TR% SR Wt 7F o I17

“Changing Indian labour legislations is the last unfinished agenda since 1991.” Assess its
rationale. 10
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COMMERCE AND ACCOUNTANCY (Paper II)

THT ; AT T | STfeeRaE 3 250
Time Allowed : Three Hours Maximum Marks : 250

- FEeeET {9 sTeear
I 3 ¥ ud Frefafan FEel @ e aEsEs o |
31 GUST § o A WY U MY € S Tevdt wE AU g A e € |
a1 el T U9 o IR o ¢ |

U WA -1 TH 5 A € qur ol Ui # ¥ U @Ue ¥ FH--H e WY g
A T S IR QAT |

TS W /N % o e s 9ass ame R e E |

Tt 35 S ol wifirg A ¥ o S iy, R Swhg s - fr w2,
3R 39 HIEHH o T8 Jeo@ YIT-TE-9eK (AT, ) Y & qEys | e wum ) e
ST =TT | Wit Aem o sifeieh s feRt wemm & fo T SR W i 3k e el |

WsAT < STee €T, STl Sfeeriad ©, T JET ST =iey |
afe smawes w, a‘rquﬁmemwaﬁﬁqameaaﬁmamﬁrﬁsﬁﬁql

HYAT & ATE! S UMD SHATTER Sl ST | SRR 'Y & fou T WAl & W @ A A
S S Ffe A Hrer 7 =T e | 98- W—Wﬁwﬁmﬁmﬁ%mw%m
@ ofd: Fe i |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting' questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a-
qumhon shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

1 m-esc-d-cma



1.(a)

1.(b)

1.(c)

1.(d)
1.(e)

2.(a)

2.(b)

2.(c)

3.(a)

3.(b)

WUE ‘A’  SECTION ‘A’

Frfafaa o s 150 = § e i

Explain the following (each in about 150 words) : 10x5=50

FHHETSAG

Ritualism : 10

HTAATTCT - EX=AT T

Strategy-Structure Relationship 10

Fferiia fire

Tridimentional Grid 10

TSI 3Taed

Freudian Stages 10
(e S ey .

'jvllldohl(;q'idl

Ethnocentrism 10

TS AN % TN TR B €, foire WA HAd AR R smufies w9 & fafie sew @
gfef o ferg el ferm srem ® 1 =6 wuw & ffeamat @ afawr w@E i |

“Organisations are collectivities of people that have been established for the pursuit
of relatively specific objectives on a more or less on continuous basis”. Elucidate
the implication(s) of this statement. 20

- FATRIRT TG PRI <Y STAATS T O™ N < ATagsl ED
fog e & &9 § A9 el ¥ CSwias v gE & gHed § ARl A6l
Sfeeh AT T8l O 6T © | 36 A TR FHRT STy |

The criticisms of Neo-classical organisation theory ranges from ‘human relations
as a tool for cynical puppeteering of people’ to ‘human relations no more than a

trifling body of empirical descriptive information’. Throw light on this statement.
20

“Trriten 3R ferftres aRay SRER S=TerT | I9TEe & B9 H SR I8 |1 SExiE]
el QI < &Y A i Al & || 36 HAF @ fasermer i |

“Political and legal environment works both as a promoting and as a restraining
force in business operations”. Examine this statement. 10

greitaeRe FiTer sftaeTRen &Moo fed <l e dEATr ¢ SR Tl g 7w T
TEt s €, fomeh yRy ¥ 2 Tk SR e =ifer | 3 wue W fewnt i
3R THEEU TR waHd @l sHIgETRe @ied 8 fhe weR fadear =nfew |

“Informal organisation is detrimental to the interest of formal organisation and,
therefore, it is an evil to be nipped in the bud itself.” Comment on this statement
and explain how managers should handle informal organisation. 20

“GATEAT Sl TRt AT o STHfETR AW GERI T@dRi & @91F Bid & || 36 &
& =1 ffedrd € ? -

“The relative advantages of functional structure of organisations are like two-edged
swords.” What are the implications of this statement? ST : 20

m-esc-d-cma 2



3.(c)

4.(a)

4.(b)

4.(c)

5.(a)
5.(b)
5:(c)

5.(d)

Si(e)

| 6. (a)

6.(b)

‘stfce’ ‘wrftre’ ® ford werR T3 Bl B 2 dvee ® wifth & Eial 9 ==t R |

How ‘power’ differs from ‘authority’ ? Discuss the sources of power in an
organisation. 10

“Se T e § gEeAl ﬁﬁ%w@m%%qﬁﬁaﬁaaﬁ w&ﬁsﬁrmuwﬁ
HT 9% ed, STelfch #A¥eh SEhT F=i€M <l SATGT SR R SUTEl o S[Si 9aiy SFaednsy
3 b W 2 1" 3 URHEAT Bl T e 2, SR 1 HR & i 9T O B ARt
CEUSCERAIR Y
“When there is an accident in a factory, the supervisor may treat it as the carelessness
of worker(s), while the worker(s) may treat it as the high-handedness ol wanagenient
and lack of adequate provisions of security measures.” What is the significance of
this Phenomenon, and why people see the same situation differently ? 20

Vet o =fhe & faRu § S FReh weETl B € 17 36 e W fewl
hITT |

“Biological factors are important in determining the personality of a person.”
Comment on this statement. 10

ARTR & GrR-<ier Ared’ W Tt o= - € 7 e =i o sifinifa wa
H, = di & a1 Tafgard 8 2

What are the various elements in the ‘Porter-Lawler Model’ of motivation ? What
are the implications of these elements in motivating a person ? 20

qug ‘B’ SECTION ‘B’
frafafaa 6 s 150 ser 9 =ren i :

Explain the following (each in about 150 words) : 10x5=50
Sfaeagut siaro ‘

Versatility transfer 10
HIa HETEA STEThaisl o Yargam & aRkyed # s e Ared

Burack Smith Model forecasting Human resource needs 10
AT =T & Sum |

Measures to control Absenteeism ! 10
ST Helt o "o H Sad &l JUNH

Dunlop’s approach of Industrial Relation \ 10
sttt ferfer-sme

Industrial Jurisprudence 10.

‘A HETEE WEH Gehideg edd ® |7 38 HH W Sl Sy SR quisy R
%&ﬂw%mmﬂawwwwww@aﬁﬁamméfﬁ% |
“Human resource management practices are culture bound.” Discuss this statement
and show how different cultures adopt different human resource management
practices 20

“BrE Us YR § fAuiias wed e, @rmﬁaﬁxmaﬁaﬁwﬁam
21" =0 Fua & WE RNy |
“Placement is a decisive step that affect both the employees and the organisation.”
Explain the statement. 20

3 m-esc-d-cma



| 6.(0)

S0

7. (b)

7.(c)

8.(a)

8. (b)

8.(c)

AR | 9 7 AR | sz fafira wfsweror ok fasm el fafeai ™ @ew 9
feraRor TEqd |

Discuss briefly the various on-the-job and off-the-job training and development
methods. 10

‘ASTIR e el feraxur, fepet ot St S1@] U o HaATcHeS Hetll, StRalicdl 3R
[ st e ue enfsgen o= grar € | gl Siie foeror < fofy smemR hRer
T GEX § Sie aTell W@ FElcAl W =l Al |
“A job description is a word picture of the organisational relationships,
responsibilities and specific duties that constitute a given job or position.” Discuss
the major criteria for a well-made job description that link the underlined factors.
- 20
““Sifel FeHToh WshH T TTchioTeh I¥d HSTGH! SR dae] # Sfidikeh 3R STel TG T
AT € || 20 U B AEIR T8 HIT SR ST H Siiel JeATeh &l HId Hed TR
Ugd dTel UHTE I Seeid e |
“The immediate objective of job-evaluation process is to obtain internal and external
consistency in wage and salaries.” Elucidate the statement and throw light on the
effect of job-evaluation on human relation in an industry. 20
s fafmiar dot & @ § R 200 FHAR € | SOt fAeaTed Heaned ol
AT &Y § el © | HOAT SI=Teh HedTeh Al aﬁmwﬁ%ﬁm@ﬁ
T 3T AES T GATe SIST Toh SHH! 1 ol 3 S o oy =am e =mten |
A manufacturing company has about 200 employees in its plant. It undertakes
performance appraisal on informal basis. The company wants to adopt a formal
appraisal system. Advice the company as to how it should proceed in the matter.
10
=T R @R Afies o9 TR S ST § 7 U Ve SR 9UR SR W R
Sifory Forees g1 Tk W T Rl A He HKh S el GHTEATSAT i IO Weh |
Why do employees join a trade union ? Discuss a strategy which an organisation can
adopt for dealing with the trade union with the possibility of making the company

mmion free. 20
P%z%w%wﬁumﬁmﬁ%aﬁmﬁvm%,wﬁqﬁﬁmﬁmm
R hl TGAAT Bidl © | Treaey e ®9 8 U8 SRR el gl oI, wifehd

form a1 g€t § foh vl @ wwsia & fou i we el ® | 36 @A 6 ded H

ufkfreRo SumE SR wEeH % S d-grieEl Bl e ST | E el ey fh
S <l R e O, UeTehI HTEaEH i feehed o w9 H 99 "l © |

“The objective of arbitration is not compromise but adjudication, though the parties
are at liberty to compromise. A wise arbitrator will certainly promote such
agreements, but as a rule, there is no place for compromise in the awards.” In the
light of this statement compare the advantages and disadvantages of settlement
approach and arbitration. Also show at which stage of negotiation parties may opt
for arbitration. 20

fosft e ofk wrefes e Seivl Qo Afien 6 <l /i Sk Arfech Hiem
foemt & weg Sed aAfde SR T © | frEas F gEiEg Sig sk I9gth S
gHART | |

Union demands and collective bargaining settlements in private industry and public
sector industries differ significantly. List down the differences and suggest suitable

remedies: W0

m-esc-d-cma 4
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g ;oA gue AftreRaH 3% : 250

TP -TF FEerET 9 ergem
(SR A % g Frafafaa FE 1 gw aearids )

< @uEl § el e W fou e § S R v oilsh 9§ BY §)

IAfGAR H FA U TH F T e E

T FEA1 1 3R 5 AT § A aeh W § ¥ gl @ue § HH-3-60 T T g AR W1 % s diig
Y% Te/49M o fou g ei sus g Ry o #)

THi 6 I SH Wiitepd wem § o W iy, fee sga ek waw-uw R e R, i1 3w mem @ s

3IFE TH-HE-IW (o o To) gftqer & F@ys W 3ifra Fifde wom w fFn s =) witepa wem &
Ffafr o= forelt mom & @ U S| W B i Ad e

WA ol wee €, siet fghaa R, Y amn s =i
Ife HEw® B, A IUGE AThe] 1 T B qo ! wwaa By A

T % FAE! O HAER 6 S| o1 9 @ Ry g s ¥ s R oft g @ stoh i 3 e
T B | TR YRR § @t B T S g8 dYE 98 F 9rr F gl s R

COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH. :

' Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space

provided. No marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

STH-B-C@MA[5 1 [P.T.O.



WUug—A [/ SECTION—A
1. Frfafa = we HNT (T8 a9 150 vs& H) ¢
Explain the following (each in about 150 words) : 10x5=50
(@) STIETE-3ERGE TeeH
Management by exception

(b) “ETERE w1 fHEr

Principle of accountability

(c) TERHIRA TS
Empowered organization
(d) Togwes
Trait theory

(e) AT 1 HHISH! HSYAATRLIT
Cynical puppeteering of people

2. (o) ‘‘weATns BEW % ondEs o fEw @ 5 e fi ey el 58 saa # g W
# we 817 @ FUA Hw W fif)

“The critics of organizational theory are of the view that modern theory of

organization is like ‘an old wine in new bottle’.” Examine the statement. 20
(b) TS TR IO whl Weheld] A1 STEGE FI U A1 ¥ | FA MY gE HEHA &7 AU Ik

el # q i

Organizational environment decides the success or failure of an enterprise.

Do you agree? Give arguments in support of your answer. 20

(c) SR WA, Te h AN TE We W 9@ a1 ¥ Wi we fif)

Virtual organization emphasizes vitality and growth of an organization.
Elucidate. 10

3. (q) AfERT & REifE g fi fErh T8, S T T F A 39 s gedt wl
THEH] TEwIH 2| 30% Toe Hedl &1 gad <R
The theories of motivation are not competitive to each other, their inter-
relationship needs an understanding for integrating them. Suggest steps for
the same. 20

(b) ‘TN =g WA I Ieqreshal | T w9 A foerpet St € gee fewren ?)7 @ o9 g6

TEd 37 S0 eerhd stk sgfEamiia iR i s % fag uw el geme df
“Quality circles tend to show little or no effect on the productivity of an

organization.” Do you agree? Suggest a framework to make it more responsive
and effective. 20

(c) ‘gea A AU qeER % gaH w1 FA 21 g9 her o o Ffean 27

“Leadership vacuum works as double-edged sword.” What are the implications
of this statement? 10

SCH-D-CRIMA|S 2



4." (a)

(b)

()

SevF UG Joitd & o Y =aren i) [ e gaeh s % g gema e
Explain the technique of management by objective. Give suggestions for
making it more effective.

WeER I e Afeat Fuifa w0 3 {7 e @ A afadd Y e § v sravas fa
2, T we i)

Explain the internal and external changes which must be taken into account
by the management in framing its policies.

Y TS H YA A WA Ve e WA §1 HT AT To weHa &7 Rwawht i)

Line and staff functions in a modern organization are irrelevant. Do you agree?
Comment.

@ues—B / SECTION—B

5. Tfafed 1 e HNY (F&F o 150 wsal #)

Explain the following (each in about 150 words) :

(a)

(b)

(c)

(@)

(e)

(b)

Fr-FgaTE faftr
Job-psychographic method
360° wfagf womeft

360° feedback system

argar sifefaio sam wE SfRftor

Merit rating vs. Job rating
BEATA S dTeirs=<]

Strikes vs. Lockouts

S W WS (3o THo 3ito)

International Labour Organization (ILO)

g Ten o1 wER B T @ FoR i erafyr A il 7 3 < e, wiieor 3 < T @
Hea 1fie At & o Toreht e & witigor fremsrea Rraen aiftes B 3o € IHh STfar
% foawg § w<g %u g’ feouft fifsm)

“One thing is now universally accepted that in the long run the cost of not

training is always more than the cost of training and the greater the training
activity in an organization, the less the doubt about its utility.” Comment.

“%eﬁﬁﬂwmﬁ%mwﬁ%ﬁmwm%qﬁwgwﬁ%%qf’wmwﬁfﬂm%‘?
34 H SE-eaied fohe TR wHdl "edl s i wear &7

“In an organization, we pay for jobs but not for men.” Do you agree? How does
job evaluation affect human relations in industry?

20

20

10

10x5=50

20

20

SCU-D-CBIMNA[S 3 [ PO



(c) Wa‘ﬁﬁﬂ%qw—ﬁmﬁﬁﬁ?ﬁwﬁqﬁ%ﬁmmﬁmwﬁcns{ﬂcﬂﬂ's‘%',k

7. (a)
(b)
(c)
8. (a)
(b)
(c)

Tl zaeh At Hify et 4 & Nafa F0 H ) @ FHEE A AT F neR | 39 s
T @ Y1 THE R ITF IR B GHAl 27

Suppose that your firm has gone outside of the organization to fill a position in
middle management even though it has an announced policy of promotion

from within. An employee has challenged this action on the basis of policy.
What could be an appropriate reply?

“TRATT WX W STle 394 T o oA & wEiee # qU i A fawd W R W FUR %
wehre H, YA H T Wl o YRR ) GURA U U garareAs @i w1 faem i)
“Indian trade union movement has failed to serve the purpose of its own

formation.” In the light of this statement, develop a suggestive framework to
improve the functioning of trade unions in India.

TH GRS HEgl WUTEl! & T ATEwH T e 87 Awigll S|l i fafim faferd @
5o e St s T ff % E-En w = i
What are the essentials of a satisfactory wage system? Briefly explain the

various methods of wage payment and discuss the merits and demerits of
each.

e fvaTE e § i e % R @ ge gt A 21 fwft Bl

“Mutual trust in an organization is the main key to collective bargaining.”
Comment.

“ SNt A & wEAl B ¥ u yaed g wrier ®17 59 wum W oot fifsg aen
syftreh rferd = 3tftes iR oK uwrEt sAM % fow gEmE wegd i)
“One of the instruments of industrial democracy is workers participation in

management.” Comment on this statement and offer suggestions to make
workers participation more relevant and effective.

e o = 27 FHEiEl % 999 % WA H 39am fhy w1 @ el Rl & udeen @
AT

What is employee selection? Explain the different types of tests being used in
the process of selection of employees.

FREH I T AHE GOEA diediad (SEzaidn) % w9ra F qlEwr Hife ) 36 3TiE JEi
R yurelt g % foTg I9gRh IU™ gAY

Examine the influence of human resource outsourcing on business
entérprises. Suggest suitable measures to make it more relevant and effective.

* ok ok

10

20

20

10

20

20

10
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afoTea 7 wEates / COMMERCE AND ACCOUNTANCY
TH-9H [1/ Paper IT

Rreffa aag @ diTwe w31 @ 250
Time Allowed : Three Hours Maximum Marks : 250

TYH-O A v sgEm

T vt & a3 & o el st i w5t e u

¥ TS W F O 3 wwd § G & s (gt ot il s 8 et g

wETET w5 e gy v & g a7 By :

T mear 1 sl 5w § e et vt § 8 IAF GUE § $H-0-%4 UF NET g e fiw g & Iwr ae
T TSN & N Ia an e £

Tl & I I A arern § fw w SR (G G e - § G w8 ST 3 aren @ o
T F-HE-I (FLALE) T & FE-vE W Ae s w fEr am aiey | e e & st s
Fd] s & fora o IR 97 SiF o 7R A

i & e dim, awl B 8, w5 smE G ke |

I I 7, 7 T AwE w gaw dHaw, var s it $HT

Tl o I A T wgEn # am | i sy 79 5, @ 5T & I 8 ey # el s 97 3 sves By
Fl | ¥9-8F-3 JiEve & wielt otg o v O IEE A & A #Y 8§ w5y a6 S |

GQuestion Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE quesiions in all.

RQuestions no. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks corried by a question { part is indicated against it,

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (Q@CA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limzit in questions, wherever specified, should be adhered fo.
Asgsume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequentiol order. Unless struck off, attempt of a guestion
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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wIE A
SECTION A

Q1. Frefafias ¥ % o =1 @9 160 weat § v dife

Explain the following in about 150 words each : 10=5=50
(a) Toew fadem (=)

Benchmarking 10
(b)  ESATHS TS

Organisational Re-engineering 10
(c) iEw wE

Halo Effect 10
(d) FFe AHE T

Adaptive Coping Cycle 10
(e)  NE-RETITEN

Red-tapism 10

Q2. (a) UH NP TS U G wed & R v fim w2 @ feaet @
it % yEe & e W e B R 7

(b)

(e)

E5T-0-C0MA

How does a learning organisation differ from a traditional organisation ?
What impact do these differences have on the way people are managed 7 20

“ymufr et 3 Tt wf G T 6 awRs g d 17§ e W
feoqoft Fifsm | WAt # wfs i v sfirammat 1 wlew @ i, W@
Traifee arafasars] T HieE T § wEEa S |

“The political power game is very real in modern organisations.”
Comment on this statement. Also examine its postulates of power in
organisations that help focus on the political realities. 20

iy veam & T www @ 2wy @ ofE sfio 9w ofy fmin & 9 s
=Hifaw |

What is meant by impression management ? Also distinguish between
impression motivation and impression construction. 10

2



Q3. (a)

(b)

(c)

Q4. (a)

(b)

(e}

E5T-0-COOMA

“widtn wa & At 4w e wi=E § 7w A e (wisal) s e
Tudiwa s e i e s e s s B 7
*“There are a number of misconceptions that people have about the glass
ceiling.” What are some of these 7 Also, what can organisations do to
help break the glass ceiling 7

safirsm it woted fr fagift % wpm dieE w0 # 2 0 a9 d@en # feoaw
e 4 sAfigin i YEe gum % o gem @ @ 2 feuoft Sifsw A
I I & wadA | ook 2o |

What are the major contributions of Herzberg's theory of motivation ?
Do you think it makes a contribution to the better understanding of

motivation in the workplace 7 Comment and give arguments in support
of your answer.

Heh 2 § S & gl w0 ¥ 2 sindafew ool & R wEw § W@
Fofeeef & 2

What is the nature of ‘selfs’ in the Johari Window ? What implications
does each have for interpersonal conflict 7

‘T e W U (R ESE.UE.) T FEAE SEE wE W W
wiEfda won 8, foga 5 o - deifihe - aredn s=gs, % Sfiee
ol o SETE U i WS W |7 59 BN o W i | §6 SIS
g e e vE g dgr w8 7

“The overriding purpose of Guality of Work Life (QWL) is to change the
climate at work so that the human - technological - organisational

interface leads to a better quality of work life.” Examine this statement.
How do gaps create problems for this interface 7

Fitgr Ty F Fo et 70 # 2 wefn oiew & wd § S e f
e wraw 6 Rl @ wareters st S )

What are some styles of charismatic leadership ? Critically examine the
Robert House theory of charismatic leadership in the context of Indian
ECENATIO.

AT w2 F wyil w1 whe i | wy  adr Feedla dee |
fafaemal =1 wearea $ifon |

Examine the attributes of wvirtual organisation. Also assess their
implications in the Indian corporate sector.

J

20

20
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20

20

10



s B
SECTION B

Q5. Tae=ferfos | ool =t s 160 wr=gi # o &ifim

Explain the following in about 150 words each : 15=50
(a)  HiTerds® HEhfA

OCTAPAC Culture 10
(b) Frémmm = (firg)

Repertory Grid 10
(c) ey wefens (Hz3m)

Golden Handshake 10
(d) wurf wEm

Standing Orders 10
(e) WoAg B9 = fames

Dissolution of Trade Union 10

Q6. (a) “GragiangiE wEEld UH W SiEe 99 § HEAY 309 Al 2, 3

gt waE T BT §: Siad-araie gmte % qumny #§ ot =

T2 0 F G T 8 |7 9 a1 B EAeS edie $ia |

qrEE el % o, v 39w wmE i = @ gemE g

“Merit-based promotion leads to dissatisfaction of all except one, hence

the resulting effect is negative; seniority-based promeoetion has the

distinctive advantage of satisfving all in due course of time.” Critically

evaluate this system. Also suggest a suitable promotion policy for Indian

enterprises. 20

EET-0-COMA 4



(b)

(c)

Q7. (a)

(b

(e)

EET-0-L0WA

“OE wEE WA @A, WEs w6 el s ae o &
WieFRe a4 1 W B 17 3 s ¥ e § dar g d fim oww @
Fugw fafim adil %1 qearea S |

“Demand forecasting of human resource is the process of estimating the
future quantity and quality of people required.” In the light of this
statement, evaluate various techniques specially applicable to the
service industry.

g0 o1 (U 1) | W e E # 2 w6 o fem wen vl gme
e Tar v wetEl e w s o o oA o T §
el | Fam 99 F fan genaens et fsfm il

What is meant by attrition rate ? Why and how are Indian information
technology and marketing companies facing this growing attrition rate ?
Develop a suggestive framework to overcome these problems.

Troaes sy wonet, freaeR graie sonelt & fee wen fim @ 2 9 ot e
ifsm s feufs sge Fema geaiwt =, Fenea v woedt & fn, o
wrHifos " % w9 0 g v wEaE fe e o £

How is performance management system different from performance
appraisal system 7 Also explain how customised performance appraisals
can be used as a strategic tool for performance management system.

“amfie Wt Frime qun sdaRE 2 % o e & A sad
Tifewa srg= &l 1 w0 39 9 o A wEwa § 2 39 whew w1 i sfis
waE T H % o 39 gEme |

“Collective bargaining is important to both employers and employees but
there are certain snags.” Do you agree with this statement ? Suggest
measures to make the process more effective.

“wfert wERER T UE R T, = A Siwg wEa & wfnn frem @
ferfe s wg =g v g R 1 w0 e 5w foogofl & weww # 7 Rw A
wfe s=ae % fawm #g v & § woen g 3an e wed ¥ e | s
Ffgamt =1 ameem $ifam |

“The basie aim of talent management is to develop and maintain a talent
pool consisting of a skilled, engaged and committed workforee.” Do you
agree with this comment ? Assess its implications in the context of
recent government initiatives for the development of talent management
in the country.

20

Io

20

20

10



Q8.

EGT-0-L0WA

{a)

(bJ

{c)

“qrg § waeaw o afiet S wnfrerf vs wEmn vE U s 7 R, S
T IIYT I Tl % mean § wagn e w7 ot i man
FrEl 2w ¥ wfis waft i sad wA % o, e gee e
#hifam |

“In India, workers' participation in management is a farce and an
ineffective mechanism but it can be reinforced with suitable legal
initiatives.” Comment and offer your suggestions to make the legal
framework more effective and viable.

FEg n EUeA (ILO) & 3ewEl a9 vhEl w == fif | 59k g %
et 1 oft WA % =9 AR 5 a9 § 59 9EN T S Wi 9
Hifom |

Discuss the objectives and functions of International Labour
Organisation (ILO). Also critically examine its pattern of structure and
contribution in the field of Indian labour market.

Yy wd T owma B wfefre st @ ofedefe Aveees
ToEifas TevEl & |y gue e fEn e =i, e arafas wew b
ure: i & Ear & |7 56 e w1 Roafi A |

“It iz often argued that reward systems should be adjusted in line with
changing organisational strategic objectives — yet in the real world, this
is not often the case.” Comment on this statement.

20

20

10
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o= Tl favre srgew

gmyﬁ%m##g&ﬁwﬁﬁamﬂéﬂaﬁmw&:

s ormg v & 9 3 @vet § favifaa & aor Rt 3 st @ H 99 gT E |

Femreff %) For g o & I G 8 [

gv7 g 1 3k 5 FEar & aar a1 v 7 @ yew @UE @ FH-8-FH U Y G [eg] a1 Je & I Y |
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ot mrem B for@ w 3T W HIE HF 787 A |

yot & vz dim, TE AR 8, FT TR faHer ST ey |

I3 AT &, 7 IUYF SIS F TIH FNA, TA I TTEA FHae BT |
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. 7

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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@S A
SECTION A

QL Freferiea # & s wt e 150 wredt # v Hifw -

Explain the following in about 150 words each : 10x5=50
(a) &I SFIHAT

Goal Succession 10
(b) S forgfa

Span of Management 10
(¢ YeuhH firs

Managerial Grid 10
d TEEs

Quality Circles 10
(e) Wicafersh SuTTCHRa

Perceptual Selectivity 10

Q2. (a) Ty & Gyt it aHiuR @ W R | F FHEE A IS S

(b)

(c)

SOF-8-LOMA

farehioptor =l wwifea & & 2

Explain the concept and rationale of decentralisation. What are the
factors which influence decentralisation ? 20

“qF weruel 1 AfingEa fadivy wemERRl & sga R @ @ 17 39 S
wiierr T |

“The line managers’ orientation differs considerably from that of expert
advisors.” Examine this statement. 10

Ta-FeATihl W fagi % &d @e SN d 3 2 e e %
fore 3@ fagra & ffgaret =t e $ifse |

What are the main features of Neo-Classical organisation theory ?
Explain the implications of this theory for organisational design. 20

4

A, .0 o



Q3. (a)
(b)
(c)
Q4. (a)
(b)

(c)

SOF-B-COMA

“qurelt frsarer % o safveT T@ TR @E w Thitd HET TEvEH
2 1” 38 oA i Ty Hifsw |

“There is a need for integrating individual and organisational goals for
effective performance.” Explain this statement.

“Hrrarensh Gegt i safthea faSivarstt @1 oY W R ¥G IAH Afhed H
TG AT die419 3 17 38w hit e fife vd e wmA i e
fafermi =6t w9e Hifs |

“With a view to taking advantage of personality characteristics of
organisational members, it is desirable to measure their personality.”
Elucidate this statement and explain the various methods for measuring
personality.

oI §H hl YR Bl GUSEY | @A # YEUH fRE SRR TE §H
guTferd o 8 2

Explain the nature of perception. How does management affect
perception in the organisation ?

“Grrgarenss dftadq @i drenfiehE, gmfs wd onfde s % sEaR W
Herferd T &0 BT B |7 39 HuA it e Hifw | Awaites Seee %
st FE  Rada 6 R 3 B @ aEtE S e
a1fed ? |

“Organisational change has to be managed on technological, social and
economic dimensions.” Elaborate this statement. What precautions
should be taken in a democratic set-up to make a change acceptable to
the personnel ?

yfirehT God § T AT THHA & ? 3P HH-HH F B § ? YfFw1 T B g
# 6 fafet f fad=an Fifse |

What do you understand by role conflict ? What are its causes ? Discuss
the methods to overcome role conflict.

“Hegagr faveryu fqdafre suaEr &1 faven @ 3R aus 6 s fafy
2 1” 59 %4 =1 qligo fifse |

“Transactional analysis is a method of analysing and understanding
interpersonal behaviour.” Examine this statement.

3

10

20

20

20

10

20



TS B
SECTION B

Q5. Trafefaa # & wedes &t e 150 vrsai § Tuse o

Explain the following in about 150 words each : 10x5=50
(a) & fafufe

Job Specification | 10
(b) HFE HETET TSI

Human Resource Planning 10

(¢) g WY wfdgfga

Trade Union Rivalry 10
(d) sfede Hfifa _

Exit Policy 10
(e)  Holgdl §HM IedTgehdl

Wages vs. Productivity 10

Q6. (a)

(b)

(c)

SOF-8-COMA

‘FuaTg SUTRd JauA i Teheu1 HI WY hIfT | 3Hh B o dmmd § 2
3% g H & IIE AR |

Explain the concept of ‘Management by Exception’. What are its
limitations ? Suggest measures to overcome them. 10

“shreitfics T @ dfer S wHRE @ e % 4 gge we

H T W@ 7 |7 e fifvw | efeifie gerdl % e @ fafim
39T B ? _

“The fundamental aim of industrial relations is to maintain sound
relations between employees and employers.” Elucidate. What are the
various approaches to industrial relations ? 20

“ara A e HedTT YUl $T ST S99 Td 9y ® 17 Fa 3

39 %9 ¥ Teud & ? feonoft i |

“The compliance with the statutory labour welfare provisions in India is
half-hearted and inadequate.” Do you agree with this statement ?
Comment. 20



Q7. (a)
!
] (b)
I
(c)
Q8. (a)
(b)
(c)

SOF-6-LOMA

WRG # At W9 STEe TRy &9 @ fewfi T gen 2 17 w@ we
e Hifere |

“The Trade Union movement in India has not developed on healthy
lines.” Examine this statement. 10

“Sie et wxft wififes wRiwA F TE e % fru e @ 17 =
HU % I H, e fawereo & e va faftel e Hifag |

“Job analysis is useful for overall management of all personnel
activities.” In the light of this statement, explain the purpose and
methods of job analysis. 20

“TeaeA et Fae geaid & fore € 9 2, g 9w frsare # syafey
Td gur & for oft R 17 fevaeft Hifsm |

“Performance appraisal is not merely for appraisal, but also for
accomplishment and improvement of performance.” Comment. 20

T I W UF TR H b U R |7 56w % orelis §, W %
321 Ud WA i T8 I |

“Selection is virtually a kind of elimination process.” In the light of this
statement, explain the objectives and process of selection. 20

G Atk oo | weifea gftreh gueansli & =@ 7g, S=iga om
WA 1 FE-H T deglt § 2wl w5 weghEt B fea g @
qq T 51 g1 B 2

What are the recommendations of the International Labour Organisation
for minimising the labour problems related to international workforce ?
To what extent have these recommendations been fulfilled in the Indian
context ? 20

e foargl & FH-H9 4 Fro § 2 yRa # oieifies faE € Jeam
T td f9eH Bq 331¢ T HeHt Hr oy Fifvw |

What are the causes of industrial disputes ? Explain the steps taken for
preventing and settling industrial disputes in India. 10
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TA-uA wraseft fawre srgew

AT T 3 I 37 @ G Rl T sgavr #t aragE e ug

§ 918 57 & o) 3 @t 7 fvifaa & aur Rt sk sipst @ A 99 gu &

TS F FoT qieT oA F I E 1

Yo7 &g 1 35 AT & aar a1t FE H & JedF GUE § FH-8-F Tk T GIH regT 7 5o & 3w o |
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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wE A
SECTION A

Ql. Fr=faRaa # | T T TN 150 VST W AHSATEY
Explain each of the following in about 150 words : 10x5=50

(a) @1 U4 HgEh GUY Td I GHTEH
Line and Staff Conflicts and their resolution 10

(b) T&=g T I TG geswI

Social Systems Approach of Management 10

(€ g 1 GATHHIHS T(GHH
Integrative Model of Leadership 10

(@ I g weey h Tmend (wshen.)
Problems of Management by Objectives (MBO) 10

(e) frgi v w@ Rrgia ard i "=
Assumptions of Theory X and Theory Y 10

Q2. (@ “wier Hiw s T Yeeus w Pifea gl # e § @ el (7
forear @ "wETsT |

“A  manager while delegating authority should observe certain

principles.” Elaborate. 20
(b) Toreht Gew ® faft wehr 3 wust ) GuwmE | Siqdafees GuE wI HWeH

H- €t fafvm Aot § 2

Explain the different types of conflicts in an organisation. What are the

different styles of handling interpersonal conflicts ? 20
© “oram (vdwe) fF et w afifad s @ rewal, dev @ aed |7

foream & wwsmwT |

“Perception consists of three elements : the perceiver, the context and

the target.” Elaborate. 10

URL-8-COMA 2




Q3. (a)
(b)
(c)
Q4. (a)
(b)
(c)

URC-8-Loma

What are the reasons for adopting a matrix organisation ? Discuss the
various problems involved in it. 20

styles. 10

What are the determinants of personality ? Explain the major attributeg
influencing organisational behaviour. 20

‘mmmm@mm% |”sam=r%sawﬁa;ﬁ,
Wﬁ@ﬁ%wﬁ%mﬁﬁwﬁml

Discuss the different tactics which are used to gain power in an
organisation. 10




wE B
SECTION B

Q5. Preferfiaa o | T T TN 150 WEa1 W AR

Explain each of the following in about 150 words : 10%x5=50
(a) i J&HY

Talent Management 10
(b)  WETEYdl W aTfeh e

Adjudication and Collective Bargaining 10

(¢ TWEl T oad JuE ¥ fagm
Principles of Wage and Salary Administration 10

@ o e e ()

Transfers and Separations 10

(e) Froqrea e SR EDGK (Wsﬁ)qﬁaa-mﬁaﬁﬁ
Computerised and Web-based Method of Performance Appraisal 10

Q6. (@ %ﬁmﬁuﬂmﬁqﬁmasﬁaﬁqﬁﬁmmmimaﬁqﬁi?

What are the different parriers to an effective training programme in an
organisation ? 20

(b) “mﬁaﬁm%mw%%ﬁmﬁmmﬁamﬁﬁ@aﬁ
Sforerar 61 R A S 1”gua»masmah$ﬁ,ﬁﬁﬁmﬁa‘i§mm
ﬁaﬁaﬁﬁgﬂﬁrﬁﬁﬁawml

“The main concern of trade union is that such unionism will lead to
fragmentation and weakening of the trade union movement.” In light of
this statement, discuss the challenges faced by different trade unions. 20

(c) i om e @ mdﬁﬁﬁmﬁmw@.m@.%wﬁiﬁﬁéam
Hif |

Discuss the influences of ILO on Indian lébour legislation and the
system of labour relations. 10

LURC-B-COMA 4




Q1. ‘me(ﬁ.w.ﬁ.)@uﬁm%mmwa
Feaa: gt ® 17 i fag Al
“Human Resource Planning (HRP) is essentially concerned with the

most effective use of scarce talent.” Justify. 20

(b) “Frt Frger GETa: TE e el WU WA @ "’ 38 HYT % A H,
st dur B e Rftel = a8 e A | v fervcmur SreTee!
(fi.uag, ) H o Fog g T e (. f .Sy, & i |
«Job analysis is mainly and essentially a data collection process.” In
light of this statement, elaborate the different methods of data
collection. Compare Position Analysis Questionnaire (PAQ) with
Management Position Description Questionnaire (MPDQ). 20

(@ “usw = Imm ASA iRt % AU Seared IgT 3g Wi Somd B =ieY
@ Ty & TEY W g AR T IS =y ” frear @ T hfT |
“A good incentive plan should have sufficient incentives for workers
to raise their output and also should not put undue burden on

management.” Elaborate. 10

Q8. (@ “vou Rrem wEiwE (@A) BT g @ gleia aifem
(ﬁ)mmmm@ﬁ%@@ﬁammm
VW HREF ST o, Te % TEvE! T wHawe B e[ 8
2 =uss faftr i faasm A |
“Management Development Programmes (MDPs) are understood as a
conscious effort to improve managerial effectiveness through a planned
and deliberate learning process.” In light of this statement, discuss the
two broad methods of developing managers and supervisors in an

organisation. 20

b TR R 3T A (SREeE) B R FA S FE e S At
FH DreH IR H BT Dotz w@ E V@ @ A W@ G, sftrepl Sl M
Brewt T (AT THAR) F &t w0 6 fafte fafet 6 fe=mm fifvw |
“Management should try to remove the irritants which encourage exit of

workers.” In view of this, discuss the different methods of reducing labour

turnover. 20

URC-B-COMA




(c)

URC-B-COMA

“w&lﬁﬁﬂvﬁaﬂmaﬁwm%m@imaﬁaﬁtmmm
TS HSATHF AEl Y 9Tt ) 3 FE "” 3@ g &, 37 faftmr wwroit
ﬁﬁéﬁﬂ#ﬁﬁqsﬁmﬁﬁa&lﬁﬁwﬁaﬁmﬁﬁm%m
SR € |

“The objective of workers’ participation has been to bring labour and
management closer and work for achieving organisational goals.” In this
context, discuss the various reasons responsible for the failure of
workers’ participation schemes in India.

10
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YA At favie srem

FTIT TYAI & I 34 @ Y& [HEA1c1aa Tedes ST &t SqTgd s ug

34 33 yv7 & 71 gt @uel 7 fayifora & aor = okt srast 1 A 99 5T E |

qiemeff 1 o7 qier Fol F IT G & |

97 g1 1 3R 5 AT/ 8 aor @/l 391 4 8 Y9% GV @ FH-8-FH Uk Y97 G 1581 a7 Jo71 & I g |/
)% JoT/ 91T % 37 3G G [T T E |

ywl & I 3G Fiftpa qregm ¥ for@ 77 =nEe e Ig@ sed Fav-u7 7 A T 8, SR F6 AEH H T
IR Jo-TE-IH (F.9.0.) YlasT & g@-73 W [ldee w7 S Ty | g e & Stfakd S
fadt aream 4 for@ v 3T W FE 37 T8 mAn |

vl 7 95 diA, TET falfase 8, T ST f5ET T ey |

If7 3ETE &1, @ Y HiHS] H TIT BT, TIT ITH! TTLTIT FlGE g |

To % FRI B T FHFAR F1 A€ | A7 FET T 8, @ T F IR F T F A GE TE IR ST 1597 T
8 | F-TE-I (7. 9.1, ) GicawT & @It DigT §o71 6 A1 3% ¥ Fl ¥ &G & FT T =T |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.

HXS-B-COMA /



@us A
SECTION A

Q1. Tr=feRaa o @y =t =T 150 vreat ® T Hifvu :

Explain the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

(c)

HAS-B-COMA

M-gnfeges Fwor

Non-Verbal Communication

1Y St <l T[UTET i THTfd i aTed BIeeh
Factors Affecting Quality of Work Life

qREdHTeH Aqca

Transformational Leadership

qitEde @ foig & &

Sources of Resistance to Change

Itk Td AfUHR
Power and Authority

“Trarater T gE ehfeuehar @ e fau fedft ded @i srewa & A
T =180 T 30 3qhel HEAT AT |” qHLATST |

“The environment is a major contingency for which an organisation

must plan and to which it must adapt.” Explain.

TSI < HEEYUl TEHTeHS TR <t feeemr Hifv |

Discuss the important structural dimensions of organisations.

“fr oreguet @ i B B 17 39 A o 3Tl H, SeATHS @i % qiuEd
4 fmi vd Areuet % HEwa i GHES |

“Rules are different from norms.” In the light of this statement, explain
the importance of rules and norms from the organisational design

perspective.

10x5=50

10

10

10

10

10

20

10

20




Q3. (a) “vig¥ Uea TS waaw Uga Hept & wHE BT & |7 feoquht Hifsw qon wet
! Tl I THIST |
“An organisation without goals is like a rudderless ship.” Comment and
explain the importance of goals. 20
(b) UH HIGA o U e a5k Ugfd i €91 % LW UF rafifed =R
AT | _
Explain the objectives and the phases involved in establishing a Quality
Circle system for an organisation. 20
(¢ “Sfaes Gr=AE =it Tt & faufid g § 17 faa=mn Hifve |
“Organic structures are opposite to mechanistic structures.” Discuss. 10
Q4. (a) GwHY o wgrEfd @t fhd TR wr fwure sem & s Iyw % w9 A
ITART foRaT ST Hehell 2 |
Explain how promotion can be used as a tool to enhance job
performance. 10
(b) MY TG § egrrcs favamur 1 w1 gl @ 2 ekl % g
YT I THAST | ‘
What is the relevance of Transactional Analysis in modern
organisations ? Explain the key types of transactions. 20
(©) Aqca % vg-as fagia 3 38 wweg Jgea Aferdt @1 aui7 Hifvw |
Describe the Path-Goal theory of leadership and its associated
leadership styles. 20
wug B
SECTION B -
Q5. ol ¥ ¥ weles &t e 150 vregt & Tum i
Explain the following in about 150 words each : 10x5=50
(a) TSATA SHM dTeara-l
Strike vs. Lockout 10
(b)  TsaTEA yeey
Performance Management 10
(c)  Ja=9 H HTHTRI hl FENTAET o 29
Philosophy of Workers’ Participation in Management 10
(d)  3irenfies dee &1 &
Scope of Industrial Relations 10
(e)  &W IUfeyfd
Labour Absenteeism 10
HXS-B-LOMA J



Q6. (a)
(b)
(c)
Q7. (a)
(b)
(c)

Q8. (a).

(b)

(c)

HAS-B-COMA

Gf37eq07 % HEw Td TehNI Sl U hifaT |

Describe the importance and types of training.

@mwﬁww%?wﬁwwmwaﬁwﬁﬁmﬁ
getag HI |

What is a good job description ? List some methods of collecting
job description information.

T (TORRe) F1 BIT € 2 hHE b SIS (3SHRH) FIEHH & EFEl
! TAHATIT |

What is Placement ? Explain the components of an Employee Induction
Programme.

%ﬁmﬁﬁ%wﬁﬁﬁamﬁms@nﬁaﬁaﬁﬁél
HINT |

“Different types of tests are used in the selection of employees.” Discuss.

HER ARERoN wd &fayfd % Gey § Ul % ATavIhAl HAagdl fgia au
et & feges faga & ffgamet H foemm Hifve |

Discuss the implications of Maslow’s need hierarchy theory and

Herzberg’s two-factor theory in relation to employee motivation and
compensation.

foraTes qedrieh w1 T qem g fafer # St TTE I |

Differentiate between the traditional and modern methods of
Performance Appraisal.

“Teiv % faerm o oW T U anen & |7 S S €EAd & ? gadH ey A
o Gell shl fiehT 1 SATCATEHTCH JedTeh hifag |

“Trade unions are an impediment to the growth of industry.” Do you
agree ? Critically evaluate the role of trade unions in the present
context.

“Iieiifier <ot YeFY Ud il o Hed Hold: U §EY B |7 §H HUA I
dtegur T |

“Industrial conflict is basically a struggle between management and
workers.” Examine this statement.

Sfrenfies Tag &1 91 HE & 2 TS foh e # Sheifie way (I7E.31R.)
% TohE YT SQTT T Hehall B |

What is the importance of industrial relations ? Explain how Industrial
Relations (IR) can be enhanced in organisations.

4
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10

20

20

20

10

20

10
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CRNA-S-COMA

COMMERCE AND ACCOUNTANCY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer (QCA) Booklet must be clearly struck off.
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@Uus—A / SECTION—A

1. Ffafad d & ycs &1 @ 150 wsdl § IW AR
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(c)

(d)

(e)

(b)

(c)

(b)

(c)

“SRvagE yer (o o 3Mo) v ffda aem 1 @ wR A =@ Fifv)

“MBO is a mixed blessing.” Elucidate the statement.

o hifsre for fora weer Afdea awm, mew-hi-Twar rauron & 9 w21

Explain how the matrix structure breaks the unity-of-command concept.
TSl § FgR W Alhed fa@wah! & 1@ 61 et fad=mn i)

Critically discuss the impact of personality traits on the behaviour in
organizations.

e fagra % wufasm & de § Worelt I9rm’ W ue |idw ool fafaw)
Write a brief note on ‘systems approach’ in the context of the evolution of
organization theory.

TISTCHS TWTaiieral i g Yaiadl ! &9 § THsy |

Briefly explain the main systems of organizational effectiveness.

PR TH b % Hed e o 9 A T R ST wha ¥, 9 A 6 a1 3 A

T HE g1 39 B F ATCAEATHE Yedrha Hieg |

“The choice between centralization and decentralization cannot be made in
isolation, none is good or bad.” Critically evaluate this statement. 20

M (Tar) o faequ (feaeiv) & wroi  we il @Al § yeusl 6 e
WAl § guR 7Y gAE A

Explain the causes of distortion in perception. Give suggestions for improving
perceptual capabilities of managers in organizations. 10+10=20

Hi & weften Ff FF F 99, GTe B @ TeH 9w 2

Briefly review how conflict can provide benefits to the organization. 10

wer figra ) gerar A wE i 6 w0 it sfie orea FwEl W sfiniia @ @ #
a1 3 T =an srawEs w1 w0 B

Explain, with the help of the expectancy theory, why a lot of workers are not
motivated on their jobs and do only the minimum necessary to get by. 20

“GreTeRs Gt Aaist, favarEl, gt U Al @1 98 YR §, S 6ed % HeEdl gN
aren T S #17 TR AR EeTore S5Rd % GERIHE T4 TRRIHS YW@l H faae
Hif

“Organizational culture is the set of assumptions, beliefs, values and norms
which are shared by an organization’s members.” Explain. Discuss the positive

and negative impacts of organizational culture. 6+7+7=20
Hfthea e 6t wrafea sEwanet 1 e g Hif)
Critically examine the Freudian stages of personality development. 10

CRNA-S-COMA/12 2



4. (a)

(b)

(c)

frger g wfauifea A9 ¥ e g w1 e qeae el ' e

ot gl a1 HRY seEre g wfaiea feafames A9 Rrera @ fha wew firm 27

Critically evaluate the contingency theory of leadership propounded by Fiedler.
How is this theory different from situational leadership theory propounded by
Paul Hersey and Kenneth Blanchard? 10+10=20

@1 T qeES (S5 U8 Wi%) § [ 901 AT G-y N F qIaeE A Gud i g 87
39 §od Il =JAaH U 8g 3 gFE g
Despite the complementary and supplementary relationship of line and staff,

why is there a conflict between them? Give sound suggestions to minimize this
conflict. 10+10=20

“gam N w1 FEiaEE @ s @ § aitedd 3 wa @ @il A gy
TS ?1 Ed  qeese

“The implementation of information technology produces change in
organizational structure as their relationship is dynamic.” Explain in brief. 10

@Wus—B / SECTION—B

5. fr=fafad § & y@s &1 @ 150 vkt 7 IW T ¢
Answer each of the following in about 150 words : 10x5=50

(@)

(b)

(©

(@)

(e)

‘I (ZFR)’ 1 wEEfd’ /TRl @ SR I adn SR’ % ST oA % el
e iR

Distinguish ‘transfer’ from ‘promotion’/‘demotion’ and state the purposes of
resorting to ‘transfer’.

360° wfayfe % 9R wuf=a sraat 6 wag § fa=m fifvm)

Briefly discuss the four integrated components of 360° feedback.

“yftes 1 STfe rEd (HeNER) 7t FEe % faa § R i 9 @ wiwiEt % fra #) @
FoA H T AR

“Excessive turnover of labour is neither in the interest of the employer nor in
the interest of the employees.” Explain this statement.

HrerRyl sienfie werg & fog steavas smedt i fagem fifm)

Discuss the essential conditions for congenial industrial relations.

e ey gaeush % INEReal S wE Hifsg)

State the responsibilities of Industrial Relations Managers.

‘A "EEA veeg % i gt § faftm o § oftada gen @ i wRada i g vl e
fi I ?1 39 A F wEEET)
“The approach towards Human Resource Management has undergone

transformation through different stages and this process of transformation is
still going on.” Explain this statement. 20

CRNA-S-COMA/12 3 BT



(b)

(c)

7. (a)

(b)

(c)

(b)

(c)

rafis el % fioer & wuehar @ (wefd) 6t FifeE 6 e i) awgia 7@ =i
TuTt 9 Rg IYYTH YA H1 g AT
Discuss the weaknesses of a conciliation machinery in settling industrial

disputes. Suggest suitable measures to make conciliation machinery effective.
10+10=20

w8y & gmemee B W Sie FRwm wiem, sife faeme w anfia @ iR Sie savasdaet @
Frafad )

Explain briefly how the process of job specification is dependent on job
analysis and related to job requirements. 10

“gra gEeEl F e gee % e aee qaeE FRisE o gaiten ?17 39 Fu % g b,
e gaeA fEee i wg @ fvewo i)
“Human Resource Planning is a prerequisite for effective management of

human resources.” In the light of this statement, analyze the significance of
Human Resource Planning. 20

““syeff wizEan STaEt HTH FHETSS, THAEI AU A A R, WY @ 99E ¥4 | ged gl
A Hida w0 areh Bt 71”7 e fafmt sy, S i wfsen < e w gur @)
“Recruitment process is often very strenuous, time-consuming and expensive,

as also equally frustrating from the point of view of the organization.” Suggest
the methods which can improve the objectivity of recruitment process. 20

“vra & fa e agEg iefe gy W srafis ek 1 sieifie T ®
USRI % WNTE w9 Fif |

“Rapid industrialization in India is heavily dependent on harmonious
industrial relations.” Explain the impact of globalization on industrial
relations. 10

g & & ieifie wery i el 9 FHRE! 1 e whe Hifs)

Critically examine the strengths and weaknesses of industrial relations in
public sector. 10+10=20

WA & 9 "l wa ¥g A H WE AT TE WA AW E9 % SAfuwr H s
frefia Hifsm)

State the criteria for the recognition of Trade Unions in India. Also point out

the rights of a recognized Trade Union. 10+10=20

“wra & angfees dRarsh it ana 7€ @ R g i) angfes dRarsh iy
1 g S *g gamal i faae fifvm)
“Collective bargaining in India has not been very successful.” Comment.

Discuss the suggestions to be made to make the functioning of collective
bargaining effective. 10

* Kk
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aTforsa @ STt / COMMERCE AND ACCOUNTANCY
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Time Allowed : Three Hours Maximum Marks : 250
Ty wrarelt favre argew

FUFT T971 3 I 37 @ Gd [ArloTaT Tk J39 H1 AT E U

57 318 577 & ) 31 @vel 7 fayrfo & aor fg=t s st @ 4 o9 gu §

giarell 1 FoT gier Jo9 & IR 8/

g7 gegr1 Ins5 R & Tt a1 Fe 7 & TAF GUE § FH-8-39 T T GAH [at diT I % I A |
Y% F/ 57T 3 3% Iq% T 177 7 § | :

JHl @ FR FH Fifga qre & forg 1wy e 5@ s yav-u7 ¥ ey 8, ik 3w anem # e
Ja@m—yg—aﬁz(ﬁ.a#q)gﬁwa}g@-wwﬁﬁwwwﬁmwaﬁq/yn‘z‘z}?rmwzr«%an%ﬁﬁm
14 areTm 4 for@ 1 I W Hig 7w 77 A |

Yol 7 g #iar, gl [k 8, T SFE 5 T TR |

Il SITAF §), T ITYH HIFS] HT TIT FNAT, TI ITH T e FT |

F1 & ITR1 #] T FAFAR F TG | I FeT 75 &, @ F97 & IT % T F T 8 a5 I S £
8 | 3o7-8E-IR (7. 1.1, ) YT & @It SIgT g1 8 7T I I F T &Y & T T TR |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Q@ug A
SECTION A

Ql. fr=fafaa # & ace @1 T 150 visgl | SR ST ¢

Answer each of the following in about 150 words :

(a)
(b)
(c)
(d)
(e)
Q2. (a)
(b)
(c)
SKYC-B-LOMA

el JTATaol & d HIF-H b & S [hdl G184 & fou e & 2

What are the external environmental factors that are essential to an
organisation ?

Ta-gfdfsdd (Fa-Fenfiiehel) TSATCHS fagid & T&I J&drdil Sl qUH I |

Describe the main propositions of the neo-classical organisational
theory.

TITSATcHS TEehic Td FIATEl o HEd HY 1 qUMH HIT |
Describe the relationship between organisational culture and climate.

“ ‘gryeran (vifedersd)’ $i fifa drearns FrEugla B Fa gwifaa s
2 |” TuEsy |

“ ‘How does the policy of ‘Flexitime’ affect organisational functioning ?”
Explain.

JqU-SAftheh HY & o &I I FHLATIY |

Explain the three forms of intra-personal conflict.

ST F 0T & T1eH % ®9 H Witk o1 I A fohan Srar @ 2 vt *
fafim giql =1 fosar 9 g9=sT |

How is power used as a tool of organisational control ? Elaborate in
detail the various sources of power.

“Ieh TiraAl o, U T % &9 a1y Afeharientn fR-dR w0 el 7
I M ® |7 39 wud % Ged H It T oI Hife v 3Ee i
forg o |

“Profit maximization as a goal, is being gradually considered less
important in many organisations.” Express and justify your opinion on
the above statement.

e & vo-aAed g &1 e faveisn i |
Critically analyze the Path-Goal Theory of Leadership.

V4

10x5=50

10

10

10

10

10

20

20

10



Q3. (a)
(b)
(c)

Q4. (a)
(b)
(c)

SKYC-B-LOMA

gt 1 “sTfision-wesa faga” e % e fRe weR v g 2 2
I ETSH1 W AT B a1 o ate “erman wt @i gefag i |

How is Herzberg’s “Motivation-Hygiene Theory” wuseful to
organisations ? List any five ‘Hygiene Factors’ applicable to Indian
organisations.

wHel h FR A B G § FE A i quEer F e w1 ao
Hife |

Describe the importance of ‘Quality of work life’ in improving employee
work efficiency.

SIERIcHS farvetyor & day #, el uier g sqa@ml &t quizu |

Delineate any five complementary transactions in relation to
Transactional Analysis.

FIURITeH (THegere) Wik o vl hifv | I (fegeh) & W,
Hie td fd=m @ gwssy |

Describe ‘Perceptual Process.” Explain the selection, organisation and
interpretation of stimuli.

Identify some changes observed in the demographic composition of the
Indian IT sector. Describe the impact which these changes have on
organisational design and structure.

mwmmﬁmmmmﬁwmm%?
U |

How can the practice of Organisational Behaviour help in reducing
production costs ? Explain.

20

20

10

20

20

10



wvs B
SECTION B

Q5. fFr=faRRaa § ¥ wedes &1 & 150 vsai ® I T ¢

Answer each of the following in about 150 words :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

SKYC-B-LOMA

“Tep I Ye-faeur ST Hqfee ol 39d Al & |7 GHHATST |

“A good job-description leads to improved employee satisfaction.”
Explain.

e fmEdr (NReyE) #1 SIS q9ssy |

Explain the purpose of employee orientation.

TTet % foru srgufeafa =i fRifa s w=i sravas 8 ? qussy |

Why is controlling absenteeism necessary for organisations ? Explain.

‘amfee diesTst W v feoauft faflm |

Write a note on ‘Collective Bargaining’.

“Ieinit 1 ufreqal g om mad @i ARG HA ] |7 R Y 3@ HUH ¥ HEEd
2 2 omq I @ Iifae fag Fifse |

“Competition among industries often leads to labour turnover.” Do you
agree with the statement ? Justify your answer.

sfirs T fRg THR SRS Gedl @) 39fd I A A W ° IEE <d
2 2 9uiA Fhifs |

How do Trade Unions contribute to the betterment of
Employer-Employee relations ? Describe.

“efarl e T, FRiEeT wE afie dul w1 G e @ 17 39 Hu
w1 feogoft Hifvm |

“Employee Welfare is the joint responsibility of the State, Employers
and Trade Unions.” Comment on the above statement.

10x5=50

10

10

10

10

20

20



(c)

Q7. (a)

(b)

(c)

Q8. (a)

(b)

(c)

SKYC-B-LOMA

feare woareha v wE-faveor i wfafafirn & gea gey w1 qui Al |

Describe the relationship between the activities of Performance
Appraisal and Job-Analysis. 10

“sngfre wra @ ond.ua. e, onft off wrwfies 8 |7 foar @ mwemIw
“ILO is still relevant for Modern India.” Elaborate in detail. 20

“qra 9 NNt SHaA TEWTiaT & Tl & Hmr-fufor vd qegar ggfiar
% fawari & wieem & wR S ® |7 gHese |

“Industrial Democracy functions in India through the demarcation of
levels of participation and accordingly, matters of participation.”
Explain. 20

T () f guemd 9t ud wWiifels 9 @ Tl qeAl # fes
3cq gt & | feoaeft hifsm |

‘Placement Problems’ arise more in larger and geographically scattered
organisations. Comment. 10

A § HITSA! o TH.3R.UH, & &7 T TrEfiehar 1 quiA HifSw |
Describe the scope and relevance of HRM in organisations today. 20
WA Fresfeh & o 3Ushdl § Sfrenfies gl H feafa w1 avi Hifs |

Describe the status of Industrial Relations in the Indian Public Sector
Undertakings. 20

TS 34 HHETT hl A& Aravaeharst i fopE gepr Afufauifia @
g 2 = i |

How do organisations identify the training needs of their employees ?
Explain. 10






